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1 Prove: An altitude of an equilateral tri mg]e@a so a median of
the triangle.
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16 Given: BE L AD, AC L BD,
AC =BE, DE = EC

Prove: ADEC is equilateral.
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9 Given: E__K _LE, P —— K
JO L PM, / %
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20 Given: ZA is the vertex of an isoscem A AR =
The number of degrees in 2B is ;’/\ =hC >

twice the number of centimeters B= v\ /R =sC
in E. PfC_ \{; -\'\ _ Q
® The number of degrees in 2C is 9{2\ ’\‘/2\ Y+l = SL—SLJ

three times the number of centi- / L0 = X
meters in AB. /
msB=x+6,= 66 B 33 c
m/C =2x — 54 = G(,

Find: The perimeter of AABC = R (33\ +33= 3+

ke = (B b = (/D)
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